>4 PUSH-ON FITTINGS (JAIGNEP

ALUMINIUM WASHER 1410 PA66 NOTCHED WASHER 1410
PART NUMBER THREAD PART NUMBER THREAD
A1600-M5 M5 A1610-M3 M3
A1600-18 1/8” A1610-M5 M5
A1600-14 14" A1610-M6 M6
A1600-38 3/8” A1610-18 1/8”
A1600-12 12" A1610-14 1/4”
A1600-M12 M12 A1610-38 3/8”
A1610-12 172"
A1610-34 3/4”
A1610-1 1’
LOCKING NUT 1410
PART NUMBER TUBE OD TUBE ID THREAD
A1700-427M6 4 mm 2.7 mm M6 x 0.5
A1700-53M7 5 mm 3mm M7 X 0.75 LOCKING NUT WITH SPRING 1410
A1700-64M8 6 mm 4 mm M8 x 0.75 PART NUMBER TUBE OD TUBE ID THREAD
A1700-64M10 6 mm 4 mm M10x 1 A1710-64M10 6 mm 4 mm M10x 1
A1700-86M12 8 mm 6 mm M12 x 1 A1710-86M12 8 mm 6 mm M12x1
A1700-108M14 10 mm 8 mm M14 x 1 A1710-108M14 10 mm 8 mm M14 x 1
A1700-1210M16 12 mm 10 mm M16 x 1 A1710-1210M16 12 mm 10 mm M16 x 1

A1700-15125M20 15 mm 12.5 mm M20 x 1

SINGLE BANJO STEM SINGLE BANJO STEM
BSPT MALE 1410 MALE / FEMALE 1410
PART NUMBER THREAD PART NUMBER THREAD
A51410-M5 M5 A51440-18 1/8”
A51410-M6 M6 A51440-14 1/4”
A51410-18 1/8" BSPT A51440-38 3/8”
A51410-14 1/4" BSPT
A51410-38 3/8" BSPT
A51410-12 1/2" BSPT
A51410-M12 M12 x1.5

SINGLE BANJO STEM — LIGHT

MALE 1410
PART NUMBER THREAD
ALG410-M5 M5
DOUBLE BANJO STEM ALG410-M6 M6
BSPT MALE 1410
PART NUMBER THREAD
A51420-18 1/8" BSPT
A51420-14 1/4" BSPT
A51420-38 3/8" BSPT
A51420-12 1/2" BSPT
A51420-M12 M12 x 1.5 SINGLE BANJO BODY - LIGHT 1410
PART NUMBER TUBE OD TUBEID BOLT SIZE
ALG500-427M5 4 mm 2.7 mm M5
ALG500-427M6 4 mm 2.7 mm M6
ALG500-53M5 5mm 3mm M5
ALG500-64M5 6 mm 4 mm M5
ALG500-64M6 6 mm 4 mm M6

TRIPLE BANJO STEM

BSPT MALE 1410
PART NUMBER THREAD
A51430-18 1/8" BSPT
A51430-14 1/4" BSPT
A51430-38 3/8" BSPT

A51430-12 1/2" BSPT




